
Wie lautet die fehlende Zahl (bis 10 000)?

Aufgabe 1

1. 3 352 +     =  6 485

2. 3 563 +     =  5 496

3. 3 200 +     =  5 968

4. 4 813 +     =  6 306

5. 2 274 +     =  4 542

6. 2 217 +     =  3 525

7. 3 400 +     =  6 219

8. 4 041 +     =  5 721

9. 3 627 +     =  6 540

10. 4 490 +     =  7 024

Aufgabe 2

1. 2 508 +     =  4 357

2. 3 398 +     =  5 879

3. 4 663 +     =  8 942

4. 4 174 +     =  6 358

5. 3 842 +     =  6 381

6. 3 335 +     =  6 440

7. 2 880 +     =  5 495

8. 3 213 +     =  6 104

9. 2 071 +     =  3 604

10. 3 238 +     =  4 853

Aufgabe 3

1. 2 167 +     =  3 737

2. 4 285 +     =  6 589

3. 4 678 +     =  6 708

4. 4 643 +     =  6 538

5. 4 532 +     =  7 346

6. 4 966 +     =  8 785

7. 4 371 +     =  8 164

8. 1 930 +     =  3 632

9. 3 588 +     =  6 742

10. 2 938 +     =  4 769

Aufgabe 4

1. 3 784 +     =  6 117

2. 1 700 +     =  2 819

3. 4 381 +     =  5 845

4. 4 848 +     =  9 144

5. 4 535 +     =  6 795

6. 3 473 +     =  6 820

7. 4 162 +     =  6 368

8. 2 711 +     =  3 967

9. 4 843 +     =  6 177

10. 3 798 +     =  4 900
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Wie lautet die fehlende Zahl (bis 10 000)?
| ANTWORTEN

Aufgabe 1

1. 3 352 +  3 133  =  6 485

2. 3 563 +  1 933  =  5 496

3. 3 200 +  2 768  =  5 968

4. 4 813 +  1 493  =  6 306

5. 2 274 +  2 268  =  4 542

6. 2 217 +  1 308  =  3 525

7. 3 400 +  2 819  =  6 219

8. 4 041 +  1 680  =  5 721

9. 3 627 +  2 913  =  6 540

10. 4 490 +  2 534  =  7 024

Aufgabe 2

1. 2 508 +  1 849  =  4 357

2. 3 398 +  2 481  =  5 879

3. 4 663 +  4 279  =  8 942

4. 4 174 +  2 184  =  6 358

5. 3 842 +  2 539  =  6 381

6. 3 335 +  3 105  =  6 440

7. 2 880 +  2 615  =  5 495

8. 3 213 +  2 891  =  6 104

9. 2 071 +  1 533  =  3 604

10. 3 238 +  1 615  =  4 853

Aufgabe 3

1. 2 167 +  1 570  =  3 737

2. 4 285 +  2 304  =  6 589

3. 4 678 +  2 030  =  6 708

4. 4 643 +  1 895  =  6 538

5. 4 532 +  2 814  =  7 346

6. 4 966 +  3 819  =  8 785

7. 4 371 +  3 793  =  8 164

8. 1 930 +  1 702  =  3 632

9. 3 588 +  3 154  =  6 742

10. 2 938 +  1 831  =  4 769

Aufgabe 4

1. 3 784 +  2 333  =  6 117

2. 1 700 +  1 119  =  2 819

3. 4 381 +  1 464  =  5 845

4. 4 848 +  4 296  =  9 144

5. 4 535 +  2 260  =  6 795

6. 3 473 +  3 347  =  6 820

7. 4 162 +  2 206  =  6 368

8. 2 711 +  1 256  =  3 967

9. 4 843 +  1 334  =  6 177

10. 3 798 +  1 102  =  4 900

© MaxKlug.de Online üben  |  
Lehr- und Lernbücher  |  
Arbeitsblätter  |  
Lehr- und Lernmaterialien

Addieren





